s el (lsnIBlel) Jonpe”

(‘;H )ﬁﬁﬁ“ﬁ 100) Gt el Guet  gui@ § yoitnd

Which solutions are not reached through proper
algorithms or work planning?

Prepared solution Candid solution

(B)

(+)

Sri L

Strategized solution | (D) Best solution

S
P

ool

)

UF'-.:{:I-{L»H .;,_J';

is a graphical representation of an
algorithm.

:..-,*..;I.FUJ_:J_E'IF’(? p

Matrix Graph

(B)

.
el

(+)

-6

Flowchart (D) Solution

¥

L

)

._‘-.-".f.'l":';I

Which symbol in the flowchart is used to either
start or end the flowchart?

Terminal Connector

(B)

.-"‘h-r'-

Te-dedU1d £

()

PO LT rtlo s ) B L P

k_l-'-i' <

Process (D) Decision

d L
AN

()

'J::r-l-l'
[

means to test if the required solution is
there.

Verification

(B) Algorithm

A b

()

Wi gsnr S AT S bk

.r;’-'l_;{,

L~

(D) Flowchart

\Validation

.."-J'f.*ﬁ

()

=i

" Ak

Ina error, the solution is working but not
giving required results. '

ventf e nF et ol Me or§d* 8P —

Random error

(B)

Lngical error

Runtime error

(D)

Syntax error

The steps of defining a problem are:

One (B) Two

Four

Three (D)

How many Ws are identified in the
understanding a problem?

te dnug UL &L (&

One (B) Three

(=)

<L

Five (D) Infinity

()

5

Dividing a complex problem into smaller
problems is called:

_q.ﬂléif(-fyuﬂupuf}‘%

Divide and conguer

(B)

(Guess and improve

b A el LBl

(=)

I.d'r I.-' =
LTI

Act it out

(D) Prototype

o

b)

— o
ol b

The best strategy is to plan a solution is...
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(A)

Divide and conguer

(B) | Guessa and improve

s el (lusaI€lel) Jonpe”

(+)

(—54)

(C)

Act it out

(D) Prototype

()

i
-

-l"- ‘
— 1 l—-r'llir’Lnr

(&)

10

Candid solution refers to:

10

(A)

Planning

(B) Checking

g
afl
-r'll'J""T

(+)

(—54)

(C)

Unplanned

(D) None of these

V-1

L)

(&)

11

Shortkey to search in web browser is:

_q.J WA IS NP TN

11

(A)

CTRL+5

(B) CTRL+F4

CTRL+F4

()

CTRL+S

(=)

(C)

CTRL+R

(D) CTRL+F

CTRL+F

)

CTRL+R

12

A flowchart is a

presentation of the

steps to solve a problem.

et/ BRSSP LS b

(A)

Graphical

(B) Written

Ly

G2

S

(C)

Mentally

(D) All of these

5
S

()

Ui

13

In a flowchart, we use input, output, decision

making and

b 1 MF-—-—J!UJL‘-@‘M&#M“ 7 -..‘-A;.f‘-.-f!

-

Data

(B) Processing

(+)

e 3

Images

(D) All of these

()

-
£ 8!

How many things are used in a flowchart?

sl S d Al L de b L]

One

(B) Three

(+)

oy

Four

(D) Five

()

Je

Input means data from the user ............ Is.

SR R T (O

Tamng

(B) Giving

.

Prmcessing

(D) None of these

[

WL ¥y

Expression (A+B).[A+C) is equal o ...............

reereens|A#B).(A+C) 51

A+(B.C)

(B) AB+A.C

A+(B.C)

A.(B.C)

(D) A+(B+C)

A(B.C)

The order of application of two separate terms

is not important in

Associative law

Commutative law

(+)

Distributive law

Identity law

" lIs it cold outside" is .........

Boolean proposition

Moral propositions

None od these

Both




ad el (o6 3lek) S
Number "17" is equal to ............ in binary

system. (WAL TTARETEA | 19
10000 (B) 10110 10110 (+) 10000 (¥)

10001 (D) 10100 10100 () 10001 ()

1 petabyte is equal to ............ gL LA | 20
(1024)4 bytes (B) |  (1024)6 bytes (1024)6 bytes (=) |  (1024)4 bytes | (<)
(1024)5 bytes (D) |  (1024)7 bytes (1024)7 bytes () (1024)5 bytes @)
Hexadecimal system has to : BLAL sl BV | 21
17 (B) 16 L 17

18 (D) 5 |0 18

The IPv4 address is made up of
bits. PV e b P P v LA

3 (B) 29 () 31

32 (D) 30 (2) 32

Routing is process of taking data from one ST Y ¢
device and sending it to another device in ernlltse LTfp S e S b

Channel (B) Network S ()
Path Area Le! (4)

DHCP stands for

Data hosting computer Dynamic host Dynamic host computer Data hosting
protocol computer protocol protocol computer protocol

Dynamic host
Dynamic host R configuration
configuration protocol None of these HEY (%) protocol

Communications protocols cover : -q-'iq’lf’b-‘rf..............Jfﬁ;.;;;}tg ;,-,{
Authentication (B) |  Error detection oS (W) | /Ol

Correction (D) Above all e (2) A 0

The receiver must be capable of accepting the
. / = A AITLLS I i o

Protocol (B) Message “by (w) Ji sy

Address (D) Information ™ (2) k!
Which of the following doesn't includes the :
types of software piracy? te JELAISS S e L3

Softlifting (B) Liability S (w) LI

Client server overuse | (D) Online piracy AT ()




s celr (I8l Ssap”
Which of the following is not a cybercrime? tetf AL A e s
Hacking (B) |  Phishing crime = («) e

|dentity theft (D) Decryption ek (5) Sogdese
Which of the following is not the characteristics

of phishing emails? e GASK OB Lof e 38

Gl Sl A

Official data breach Email account
notification (B) update RS Lt (w) Lt
Similar domain of ) S

IT reminder (D) | actual website CH Ty o (2) o
Which of the following is not characteristics of

phishing website? PR (T ]

T Y A
hr;b__;i.f_fﬂ:::._-{ﬂ;

Similar domain of Using of forms to
actual website (B) |  collect visitors e () | et el
Actual link to web Email account , _
content (D) updates S () | Pty

Which of the following is not a characteristics of
good password? ’ h,-..g.li" ;,}ﬁgfinu}éll,rwf L)t
|s eight characters Doesn't contains L ]
long (B) username o F () =Neds 2T

- ..,
quF;;I!LIiTIh:f:ﬂlfug

Contains uppercase Password is your —
letters (D) nameonly | < () | «F gres
An individual list item can contain another '

entire list called : -ﬁ‘-—t]lulﬁ‘-at Fned shLis kg S e L
Ordered list Unordered list Unordered list - Ordered list

Nested list Definition list Definition list (2) Nested list
HTML is not language. HTML - 62 ....... i8S

Programming (B) / Markup g o) 1)1

Both (D) |  None of above SEE (5) U

et F bt SN . S s

Notepad ++ (B) Notepad Notepad (=) Notepad ++

Text edit (D) All of above All of these (4) Text edit
An HTML element usually consists of a

tags. bt Ly e S HTNLLG
Start (B) End End () Start
Start and End (D)|  None of these None of these () Stard, End




The ........ element is a container for metadata

(data about data).

s el (lusnIBlel) Jsnpe”

-..q..ﬁr.rﬂ:iﬂ*_.;j!ai,.l

<body>

(B)

<head>

<head>

()

<body>

<fitle>

(D)

<html>

<html=

()

<title>

To save the HTML page, you can use

file extension,

LIIEASEE o (iL LS5 TEHTNLL

-

htm

(B)

html

html

G

htm

Both

(D)

None of above

None of above

()

htm, html

There are
document.

of headings in HTML

HTML < Gl ha v iondd

4

(B)

9

9

(+)

4

6

(D)

1

1

()

B

tag is used to display data in tabular

il CLAOE LSS S B

td

(B)

table

(+)

td

tr

(D)

th

()

tr

A hyperlink can be applied to

Image

(B)

e

(+)

9.7 A ) ¢

¢ wed!

T
LY

Both of these

(D)

None of these -

ar-he
ey l..--'{srl..-"-Ljr

()

|_.-.f'.".?

In "body" tag

is used to make a picture of a
hackgrnund image of a web age.

2 LIy gt LB s Ll e B3

-t/

by

(B)

backg round

hackgmund

(«)

bg

bgimage

(D)

Mone

None

()

hgimage

A flowchart clearly describes a process through

and text.

-t gP OIS QL LS il

Data

(B)

Symbols

-

(«)

L3

Program

(D)

None of these

-

a1
A3z

()

,i'
.|l|.___.| !_‘;

used to determine the flow of steps in a

flowchart

VUL LL S Ll pfidgh

Flow line

(B)

Terminal

S

()

[ 3
-.:u-ij"

Pmcessing

(D)

Decission

Wil he?

()

W

b

symbol indicates the start and end of a

flowchart.

wg- BARIS IS DITE L fy ot

Flow line

(B)

Terminal

(«)

1l b
o M

(D)

Decission

()

W

b

Pmcessing




symbol represents the operation of
change value in a flowchart.

s el (lusnIBlel) Jsnpe”
SLVRILL ki Lipposdgborts

Flow line

(B) Terminal

-0

S () ok

Process

(D) Decision

Sl e [.1] .,a"f

If a flowchart doesn't fit on a page then we use
to connect parts of a flowchart on

different pages.

L 4,1,}4.;55.............,4,.:{;5" WY YT M i

Flow line

(B) Terminal

Ltk Ur”
Uk

Je (+)

Decision

(D) Connector

A

P (s) Sl !

is a set of steps to solve a problem. Its
written in a natural language.

L ele e AL, L0 ) 1
el

Flowchart

(B) Algorithm

() e

Problem

)|  Allofthese

(1) e

symbol represents the starting point of

an algnrithm.

I Y g7 1) D T

Start

(B) Input

() h

Set

(D) Stop

(1) L

symhul is used

to get input from a user.

Start

(B) Input

Set

(D) Output

It is used to update the value of existing data.

Input

(B) Set

If else

(D) Qutput

symhﬂl is used

to check the condition,

L LL S PH St

Input

(B) Set

{v} gl

If else

(D) Goto

(s) I

symbol is used to transfer control to a
certain step in program.

8 PR T —gﬁrl; :J Js }‘r S e
il L LS

Set

(B) f else

S (w) =

Goto

(D) Qutput

Lt (4) i

How many algorithms can there be to solve a

problem?

tEnl IELLL SIS

One

(B) Two

() Y




Maore than one

(D)

Mone

s el (lusaI€lel) Jonpe”

()

Lie L

(&)

After solving a problem, we

need to ..........

oSSR L LS S 0 L

54

Process

(B)

Test

(+)

(=54)

Qutput

(D)

All of these

()

@)

Find mistakes made while solving any problem

T 1 SRR PRy ) Jau T {1

el

99

(B)

Flowchart

w|

Algorithrn

(D)

None of these

()

A

Types of test data is:

s

Two

(B)

Three

() ]

Four

(D)

Five

()

.ﬂ'lf_'

e SOIUtION iS tested on extreme values in

test data.

et L Laifipd fLiseserd

Boundary test data

(B)

Wmng data formats

2 LR

() b St $

Absent data

(D)

All of these

=
M
Sl
-

()

e b 3"

means to confirm that the solution is for
the problem that needed to be solved

fu"q..d. LEnS S +=IQJJ¢+JUf;.

LenpsSs

Validation

(B)

Verification

& L]
I_,-""f #

R L

) o™ ks

Both of these

(D)

None of these

a1
W Os ey

L)

;_J:.'::..

means to confirm whether the solution is

correct or not.

S q.(f -.:'--'..uJ LTJ’ q'..l'ﬂt’.fr' J_’.bj J YRy Ly

\alidation

(B)

Verification

Flowchart

(D)

AAll of these

is a technigue used to test algorithms.

Flowchart

(B)

Process

Trace table

(D)

None of these

Displays each column

in the trace table.

Names of data

(B)

Values of data

Mistakes of data

(D)

All of these

Displays each row in the trace table.

068 p S FE R

Names of data

(B)

Values of data

() orELs
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Mistakes of data (D) All of these i S
The system under which the numerical system

is expressed is called: (B e bnad LB AP B0

Decimal system (B) | Number system A () P A

Binary system (D) Al of these Vo (2) el
What numerical system do we use in our daily

life? tBL SIS S0 RS b sy

Decimal system | (B) | Number system A () S A2A

Binary system (D)|  None of these SR (2) Al
The base of decimal system is: / Bt s A2
0,1 (B) () 0,1
10 (D) () 10
The base of binary system is: -Gt LB e
0,1 (B) 2 (+) 0,1
10 (D) 16 (4) 10

Binary numeric system have numbers: :LELﬂaﬂaﬁrlﬁL‘Fw@

0,1 (B) 0-9 - (+) 0,1
42644 (D) 0-16 | (2) 42644
The binary value of the letter A is: | -j'-rj(.wJA—lf
1000001 (B) 10000001 10000001 1000001
11001100 (D) 1001001 1001001 (*) 11001100
The decimal value of the letter A is: -#JLFMJMF
35 (B) __ 46 (w) 35
50 o 85 () 50
The value of A in hexadecimal system is: -ﬁ-JJJM("" Jf'f'ihfl
0,1 (B) 10 10 (w) 0,1

12 (D) 15 15 (2) 12

To convert a decimal nhumber into binary R
number, we divide the number by....... BN o SANALLL S AN A

2 (B) 10 10 (w) 2

0,1 (D) 16 16 () 0,1

The number is the divided obtained in the .
exchange of systems is called: LI VeI LA

Page 8




Remainder

(B)

Quotient

Quotient

s el (lusaI€lel) Jonpe”

(+)

Remainder

(—54)

Both

(D)

None

None

()

Both

(&)

(69610)10 in hexadecimal is:

Wt Jo4:£:(69610)10

73

(10FAB)16

(B)

(6FEA)16

(6FEA)16

(+)

(10FAB)16

(—54)

(10FEA)16

(D)

(6FAB)16

(6FAB)16

L)

(10FEA)16

(&)

(C921)10 in binary is:

(C921)10 —ed e

74

11011001

(B)

10001101

10001101

()

11011001

(=)

11000001

(D)

11001001

11001001

)

11000001

(&)

The types of memory i

5.

LSS

75

1

(B)

() 1

(=54)

3

(D)

)

3

(&)

The example of volatile memory is:

-q.dﬁ'kfd.u{' J Ellss

76

RAM

(B)

Hard Disk

() -

(=54)

CD

(D)

All of these

()

JiS

In which memory is the data temporarily

stored?

Tq‘.l‘ﬂ.#f AL LS :,)‘(

Volatile memory

(B)

st st

()

.,_fu":._.J' s

Both of these

(D)

Non-volatile memary

None of these

S
A E -t

()

WESF

Data is stored in memory cards.

LB F CS LN

For one month

(B)

Temporary

T

| LLwg

Permanently

(D)

Cant saved

e

Digital computer saved data in the form of.......

Decimal

(B)

Hexadecimal

|,'_.l+r & m

#
bk
I-"

Binary

(D)

None of these

s
| y
WS w0l

()

i

How many bytes will it take to save the name
"Pakistan" in computer memory?

SUAELLLS5# psust 2od pe¥“Pakistan”

'F'J s

8

(B)

16

16

() A

32

(D)

64

()

One bit contains hytes:

2

(B)

(=)

8

(D)

()




One kilo byte contains bytes:

s el (lusnIBlel) Jsnpe”
flns LA b

8

(B)

1024

1024 r 4

2048

(D)

3062

3062 (2) 2048

The least amount of space is required to store
any type of information in a computer.

.q..Jﬁ;F’;J.;rr =-|f L LIS prud A, |‘3 titd

One byte

(B)

8 bytes

A8 ()

£ e
b |

1024 bytes

(D)

None of these

o1 1024

ufj Sl (1)

Preposition indicates the value:

=06 158

TRUE

(B)

FALSE

()

f— 4}

Both

(D)

None of these

()

AND operator can be denoted by:

A6 IAND

(B)

()

(D)

()

OR operator can be denoted by:

Vel 6/ /e IOR

(B)

_|_

+ {'—'}

(D)

Mone

() -

None

...... used to test the preposition.

-t Uil L Z S ydg

Truth table

(B)

Simple table

() Al

ul-'culr

Calculator

(D)

None of these

3 (2) o

By negating a negative preposition, we get a

..... preposition:

S UeRg gl L OR GINOT g ErgS o "
+

Neg ative

(B)

Positive

ot () i

Both

(D)

None of these

LT

AT E (1)

Web server replies in the fo

rm of

P TTN0 of1 SY oy

HTML

(B)

CSS

CSS (+) HTML

FILE

(D)

NONE

NONE (2) FILE

Language is used to ¢

reate website.

CSS

(B)

HTML

HTML (o) CSS

C++

(D)

Mone

None (2) C+

The term hypertext is derived from:

e St éy

HTML

(B)

CSS

CSS (+) HTML




s ol (JatBlab) Sy

Hyper link (D) All of these All of these (2) Hyper Link (@)

The abbreviation of WWW is: - WWW | g7
World Wide Web | (B) | Word Wide Web Word Wide Web World Wide Web | (<)
Word Wide Website | (D) |  None of these None of these (2) | Word Wide Website | (&)
<p> tag ends with: -t h<p> | 93
<p> (B) </p> </p> () <p> ()

<pl> (D) <pp> <pp> (%) <pf> (@)
Pair tags consist of start tag and : DS (BBt Bifs | 94
Mid (B) A7 ") it (w¥)
End (D) |  None of these ST () i &)
The tag used to write the paragraph is: :f-’ﬂdﬁ;"-ﬁi-zﬁ—“ﬁﬁ 95
<p> (B) <para> (w) <p> (=3)

<paragraph> (D) <pp> (2) <paragraph> ()

The tag used to break the line is: :q—rﬂw-\f-ﬁu LI | 96
<p> (B) <p> () (3)
<br> (D) <hr> (2) (@)

HTML document starts with : - 97

<htm> (B) <html> <html> () (<)

<(html> (D) <hr> <hr> (2) <fhtml> @)

HTML document primarily consists of
sections: rg.m..P” (BE LbS\hasLBHTML | of

One (B) Two 2 () e
Three (D)| / Four e (*) o
Used to insert an extra space in the paragraph: :q-!"_-!r"di"""é-ﬁiﬂﬁ ,ﬁ'}..{l.,r:._lfm
&nbsp; (B) &nbsb; &nbsb; (o) &nbsp;
&spac; (D) <space> <space> (2) &spac;
The number of heading tags is: PRIENY AP
One (B) Two 2 £
Four (D) Six , e
Tag used to enlarge text size: : B L SyANS”

<font> (B) <font>




2 el (JpsaT B3l e’

<font-size> (D)|  None of these None of these (%) <font-size> (@)

The latest version of HTML is: HTML & idamel 7448 | 102
HTML (B) (+) HTML (=54)

HTML4 (D) () HTML4 @)

The tag for unordered list is: PVt 5T | 103
<ol> (B) <tr> <tr> <ol> ()

<ul> (D) Mone of these None of these (2) <ul> (@)

The tag for ordered st is: :gBer ST | 104
<ul> (B) <ol> ") <ul> (w¥)

<li> (D) <ir> (%) <li> ()

Tag used for images in a web page: =+b‘!gb|““‘—ﬁ¢il-£4!ﬁu¢$ - | 105

<img> (B) <image> <image> (w) <img> (w¥)

<background> (D) <bg> <bg> (%) <background> (@)
attribute provides an altenate text for an

image: i LB L0 | 106
alt (B) attr attr (w) alt (w¥)

text (D) All of these All of these (2) text (&)

Used to move from one page to another page: :ﬁ'-“!LfJF"f«ﬂ-ﬁf—Hgﬂf neg *-E"Lf{ 107
Hyperlink (B) Table K (w) A4y ()

List (D) All of these o (s) < (&)

The tag for hyperlink is: :e-B¥E4Y | 108
<hyperlink> (B) <alt> () <hyperlink> (%)

<a> o)y / <be () <g> &)

The tag for creating table in HTML is: if-—ﬁd-ﬁ-"—hfuﬁHTML 109
<tr> (B) <> (w) <tr> (¥)

<table> (D) <li> (2) <table> @)

The table row tag is: e BB LS | 110
<td> (B) <td> ()

<row> (D) <row> @)

Table header tag is: e DL | 111
<r> (B) <tr> ()

Page 12




<header>

(D)

<th>

<th>

s el (lusaI€lel) Jonpe”

()

<header>

(&)

Attribute are used to spread a row to more than

one row.

e el e Is S . LA A L L1 AB L

112

colspan

(B)

rowspan

rowspan

(+)

colspan

(=54)

expand

(D)

None of these

None of these

()

expand

&)

A computer network is a ........ of computer

systems.

113

System

(B)

Group

.q_rﬂ___ffa-ﬂrﬁul)}"}.g{ S Lr}.f:u.t.g‘}.:(

()

r,r-"

(=5%)

Device

(D)

All of these

()

5
j i
Rl E

&)

Networks are connected together to make a

large ........

114

Group

(B)

System

19l TR . y et LSS LA e

I}-'“

()

—

=

(w54)

MNetwork

(D)

None of these

Wt LVt

()

.-. L
- o F

(@)

The example of hardware sharing is:

115

Printer

(B)

File

JE

eSS usb A

Pl

(w54)

Data

(D)

All of these

7.

()

L3

&)

The example of ATM machine is:

St il

116

File sharing

(B)

Hardware sharing

L A

(«)

LK

(=54)

Application sharing

(D)

Internet sharing

. -
gy

()

LA

@)

The computer provides space for storing data,

called:

et gt/ )Rl LL sV it

117

Cleint

(B)

Server

L

()

:"LE"
—

(=54)

Both

(D)

None of these

a1 )
' or |_,|-':|_'_.|

()

WL

&)

The example of server

is:

118

Computer

(B)

7/ Network

()

q.dﬂ'dl nr7

r]
oy

(=54)

Dropbox

(D)

All of these

()

-

-~ d
[

b —

L o

&)

A server is a system that ..

. SEIViCES:

geyrsf L2l

119

Gets

(B)

Provices

()

o

T

(54)

Both

(D)

None of these

()

WL

(&)

The client is:

e b il

120

Hardware

(B)

Software

.:ﬂ.!'.;.-":

(=54)

Both

(D)

None of these

WL

@)

The types of connection is:

s ad

121
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2 ol (Jpo3BQaB) Jpe”
One (B) Two («) - ()

-+

Three (D) Four : (2) s (&)
The direct link between the two devices is an

example of: e SO AL B nLatls | 122

Point to point Multi point oo s
connection (B) connection Savdr (w) | o fgissy | (M)

Both of these (D) None of these (2) WLIIW (&)

The example of multi point connection is: t{-—dﬁ'd’ug Hl‘#‘&" 123
TV (B) Remote () §1-d (%)

Wi D) |  Allof these "’ /b A ()

The types of topology is: 124
One (B) Two () (<)
Three (D) Four () o~ (&)

In Star topology, all devices are connected to a I e #ﬁ fab LM L ™
common point via a cable, this common point is ey S d‘; febiflie el

called: - teldesly S ot | 125
Hub (B) Button s (+) — ()

Server (D) Cable J (3) s (&)
topology connects all devices with each - gilrdvley ::..E'Imm.:r’iﬁrﬂ;,ﬁsﬁr}

other through a direct link. ' tdnsz | 126

Bus topology (B) Star topology Sy () AU (i)

Ring topology (D) | Mesh topology Gl * () Ge ks (&)
In which topology data exchange is faster? Tt S JWJLL?UI 127

Bus topology (B) Star topology Sl () 2% (w¥)

Ring topology (D) | Mesh topology g J* () A (&)

—
The components of communication system is: : : 128

Two (B) Three £ (+) : ()
Four (D) Five , () : (&)

k7| 129
0, ()

Sender is called: :
Transmitter (B) Source i (=) A

Both of these (D) |  None of these 4 (4) Udssg (@)

The example of reciever is: Iq—J'f"d'MﬂUﬂrB 130
Printer (B) Cable : (=) F4 ()
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s el (lusaI€lel) Jonpe”

Internet (D) All of these v i (@)
In a data communication system, a message is

sent in the form of :MWJLPJ———IF&J?JJ’*&'J@ 131
Packet (B) Internet eyl () o ()
Information (D)|  None of these A (2) =™ (@)

How many parts of message? ?ﬁ'-“""y#{u"" &g 132
One (B) Two . L (54)

Three (D) Four . (2) B4 (@)
Control information of message is called: . gt ¥rae” iy | 133
Play load (B) Header e e ()

Both of these (D) |  None of these (2) P2y (@)

is a formal agreement between two
parties is called: :‘.‘-“'7‘;"'!-{ aLichenEud 9 | 134

Message (B) Header ke (w) e (wh)
Information (D) Protocol (2) A (@)

The example of transmission medium is: : J¥ 17| 135
Message (B) Printer 2 () ()
Fibre optical cable | (D) Intenet L F (2) = S A @)

How many layers in TCP/IP protocol? | 136

Two (B) Four : (w) ’ ()

Five (D) Six £ (s) : (&)
protocol is used for the purpose of
transferring files from one computer to another: gt Il LS Bl e £ LIF6 | 137

FTP B)|  HTTP HTTP (=) FTP ()

SMTP (D) WWW WWW () SMTP @)
We can use transfer webpages between a client

and a web server are; A/ dp—,{_;’f‘ Jﬁfm;ﬂaﬂmﬂf 138

FTP (B) HTTP HTTP () FTP ()

SMTP (D) WWW WWW (2) SMTP @)

Fixed IP address is called: gt L30T | 139
Static (B) Dynamic t e ()

Fixed (D) Al of these ’ L6 )

It is a unique identifier: easf2308 57 (1 | 140
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a¢d celor (T 6 Qlel) o’

P (B) Router Router («) P ()

DHCP (D) Server Server (2) DHCP (&)

The standars of IP addressing is: Bk ELLAIP | 141
One (B) Two (+) L ()

-+

Three (D) Four : (2) ok (&)
172.16.54.1 is an example of: - JB172.16.54.1 | 142
IPv4 (B) IPv6 () Pv4 (%)
Pv8 (D) IPv10 () Pv8 &)
The IPv4 is divided into how manumups? / IPv4 “'ﬁ‘-—*"t!rfr‘:j S’ &y 143
Two (B) Four 0 () 19 ()

Six (D) Eight &7 () 4 (&)
The maximum bits are required for every group
of IPv4 is: IPv4 o dnes S hicitid o/ ol | 144

Two (B) Four / ) 1 ()

Six (D) Eight (4) £ (&)

How many bits in IPv6? PV6 tetnf w A | 145
32 (B) B4 () 32 ()

128 (D) 266/ () 128 ()

How many groups in IPv6? IPv6 sl L | 146
Two (B) Four . () 1 ()

Six (D) Eight () g @)

The example of networking device is: «,'--t,jt"l.fl.'j M—'ﬁ:’ 147
Internet (B)| . Browser () i F ()

Router (D) All of these 7 (2) (&)

is usually placed at the meeting point of
two networks. :Mfﬁlgi’fﬂﬁu’v PRy e — T

Router (B) Connection 2 () s ()
Cable O)|  Allofthese : () J ©)
We get the internet service from...... el us s Sec#1 | 149
WWW (B) WWW ()
HTTP (D) HTTP (&)

The example of piracy is: :q-dﬁ‘kfd-'ﬁi 150
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Book (B) Poem

s el (lusaI€lel) Jonpe”

(+)

o
Il-"lh"
1

S

(—54)

Software (D) All of these

kA

()

(&)

Sometimes, some malicious user disguises
himself as our friend and tries to get some
confidential information. This is called:

..;“t{d,shﬂfﬁ:-ﬂ;ﬁlw J#U:i.ﬁwbﬁﬁl'w
Lt gL SIS P ecid

151

Phishing (B) Piracy

Piracy (<) Phishing

(—54)

Copy (D) All of these

All of these (s) Copy

@)

Patent is a way to protect an ......

152

Software (B) ldea

DI W2 ST
(+) ;

b
Ll

(—54)

Copy (D) None of these

uf';;..‘::lfl.r'f et (2)

@)

Copyright law says that some idea or product
cannot be ........

L f— Y Ul AL N

153

Patient (B) Copy

3¢ () ok

(—54)

Sercret (D) All of these

@)

is a serious attack on a computer system.

- :cf.-.J-’cC; -E'Lq’" I

154

Trade secrets (B) Copyright

..-.;'.u;és" A

(—54)

Patient (D) Sabotage

2

Sy (+) L

(&)

There are certain companies, called , that
solely exist to collect, aggregate, buy and sell
comsumer information. 4

LSG A SR NS el P U
:L,E:.Eré.ﬂu .:-51):4-_}:“ pr4

155

Hackers (B) Data brokers

-

+ | E ok
iraskes

(+) j

(=54)

NADRA (D) None of these

uf: {0 (2) Lk

@)

Primarily, how many aspects do we want to
keep our data safe?

Tz etk fss 10 L s E A b S

156

One (B) Two

a3 {nf} y

(=54)

Three (D) Four

;E I:J:I ok

@)

The information that is stored with web surfers
is called:

157

Data (B) Cookies

e QW oo 2370 L3} s icho®ns

sy {IT'} b3

(=54)

Information (D) Patient

L (4) o A

@)

Encryption is the process o

1{-&?&---“.*6"%1&:45’0’?{-&}: LALiS 5

158

Encoding (B)

?J- 'Jl".- "f‘r '
WISTIY ke 38 I

()

()

Both of these (D) None of these

u'fj' F'fi.a': e [J:l L ;':,-:,

@)

Encoding means conversion of data to an
unreadable format which is called:

B 2t S P UE L L M 3

159
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Decoding (B) Password

s el (lusaI€lel) Jonpe”

(+)

L

(—54)

Encrypt (D) Ciphertext

()

=

& 1: .-L':,.,f

(&)

is used to protect sensitive data, including
personal information for individuals.

e G/ S0 oA Jf o et

160

Protection from

Encryption (B) hackers

e

[N

(=)

SK

(=54)

Patient (D) Password

.‘!;..-'.-""'E

()

-
it

(&)

was a Roman politician and military
general.

161

Cipher (B) Vigenere

et

RGeS sa k]

(=)

(=54)

Caesar (D) None of these

ot -
U

()

-4

(&)

Within caesar cipher substitution scheme, the
plaintext "PAKISTAN" would be encrypted into:

eSS K F"PAKISTAN e ApusbeF L3 ) 30 o

ALATA TN

162

0ZJHRSZM B)|  @BLJTUBO

QBLJTUBO

(+)

OZJHRSZM

(—54)

NATSIKAP (D) None of these

None of these

()

NATSIKAP

@)

Vigenere cipher uses a
the letters of plaintext.

for substituting

ki LLS S 17 L dprre i p s

1g-tel/e1

163

Book (B) Symbols

(+)

-
-—-l'llul"'

(=54)

Method (D) Table

()

Kz b

Vigenere Cipher table consists of ....... rows and
columns.

.q.gF’ .;u:lf...........aﬂ u:.alﬂ—__—gﬁ)fb [:':

16,16 (B) 22,22

22,22

(=)

16,16

26,26 (D) 32,32

32,32

()

26,26

Messages encrypted with the Caeser cipher are
to crack.

et Mo Lt be LM

Easy B)|  Difficult

s

b’

()

T

Complex (D) None of these

a1
|
ST e

()

A

Most common letter used in the english
language.

-t WL e L en WSS

A (B) F

E

()

A

0 (D) S

S

()

0

keys are used to read an encrypted
messages.

Password (B) Cryptographic

e oUW L Lan 4SNP

¥ .-
U

()

Ll

Encryption (D) All of these

7

()

j..'{.:-;;




A good password must contain at least how
many characters?

s el (lusnIBlel) Jsnpe”

Two (B) Four

T lﬁﬂd’y =7 & |r 5{&#’1 Wit | 168

/e {'T‘} 23

SiX (D) Eight

4 () 7

A crime in which computer network or devices
are used is called

gtk et el S alod LU 2 ]

Hacking (B) Cyber crime

AL A (o) EG

Virus (D) None of these

+
A A
e e [1] el

Hackers may use fake ........ to trap someone to
give passwords and account information.

JF"H’.__-—LF 4..£.J.f " o ln:-bl"d’ .:Fm..f.lﬁ..irk.?.ﬂg
- S

E-mails (B) Passwords

..-.L-J‘"_L {lq_-'} ..-""f,‘l,_..:I

Accounts (D) All of these

s (5) Wk

Thisis a if the cardholder claims
chargeback.

iy A3 v SS9 Kl o s DS K1

Fruad (B) |dentity theft

i~ .
Sogdesle (w) i

Transactional fruad | (D) None of these

— T
WAL E -t (s) 5’:"»}}“5'5

lllegallyaccessing someone else's computer is
called:

Theft (B) Hacking

eSS EI L s b i06 2

e () g

Piracy (D) All of these

U (2) T

is the fraudulent attempt by sending
emails to obtain sensitive information such as
password and credit card details:

LS Gl o (F e K8 S b vy
P g ) NS IV o

Hacking (B) Software

sy (<) i

Phishing (D) All of these

| (2) &

In computing, a isa -:yber-'ﬁttat:k to make
a machine or networkresource unavailable.

ol el Lt S At LS

Hacking (B) DOS

e PP Srg

() e

Network (D) All of these

[.1] g Hudo

Draw the flowchart for the following
problem: Input two numbers n1 and n2.
Determine whether n1 divides n2 or not.

ff.d—bd N2.sIN1 ﬁ’} 1t il -@éa‘{ﬁé.m.u
et/ N2 AN S L

Draw the flowchart for the following
problem: Input a year and determine
whether it is a leap year or not.

PN b Lsgre b Sfrur bl Lt
& Le bl Sk
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Draw the flowchart for the following
problem: Input a number and calculate its
factorial,

s el (lusnIBlel) Jsnpe”

ﬁ,fh.ldéqtﬂﬁ-o_;‘# /" 'y _gﬁcé-a":ié.m.u

Draw the flowchart for the following
problem: Find LCM of two numbers.

-;Ef r)b"' [-‘:i-;j' -Ltl‘fu: /:‘} 22 -L,L'ik-b.{;l; 4. MJE;JJ

Draw the flowchart for the following
problem: Input a number and display its
factors.

;l'bd/'f Ll dhe gt Csgeh ..L,{,ﬁ:s-t-ﬂp‘q‘l-itb&u
Ll

What is meant by problem?

T s e e

What is meant by problem solving?

teil e S S b

Write the names of steps for problem solving.

WIS (JT S

Why is it important to understand the problem in
solving the problem?

."#-Lfa/’u[ Sl S e

Write the importance of planning for problem
solving.

LSS Fy LSS 2

What do you know about candid solution?

I TR AL 30

11

What is meant by selecting the best solution?

ted Nl S F Sy

12

Define flowchart.

S h

13

Describe the importance of flowchart for
problem solving.

LSt Bt f L ke

14

Describe the flowchart requirements.

L s de P

15

Write a flow chart to find even and odd numbara;:

Lok oIS P03 0 S s

16

Define a flowchart to show the largest number of
the three numbers.

-.(,{‘i:v.b)gﬁﬁ.ﬂjf /s} PP

17

What is meant by algorithm?

T ;p’;f .um

18

Write an algarithm for making tea.

19

Write the role of algorithms in problem solving.

_g{f,;/" A0/ l-’(? ;:ﬂ'lu:d' L

20

Describe the use of symbols in the preparation
of algorithms.

Y o 2 BT AT

21

Write the steps of the algorithm to find the
volume of the cube.

LIPS L ILLL S I il

22

What should be taken care of to make an
algorithm effective?

te bt L Litdrdf A

23

Differentiate between flowchart and algorithm.

LS ANIIEL s s $

24

Write the ad'.rantagaa of flowcharts.

LS LB L b

25

Write the disadvantages of flowcharts.

YV Yy

26

Write the limitations of flowchart.

LS NS s P

27

Write the ad'.rantagaa of algarithma.

28

S
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Write the disadvantagas of an algnrithms.

s el (lusnIBlel) Jsnpe”

L FendL PN

29

Describe the limitations of an algorithms.

.;,{f .:-:-I.hd;uﬁwd’ r; .um

30

What is meant by test data?

f:;.-dfkrs-fcjd-tc

31

Describe the importance of testing.

Sl et S B

32

Write the types of test data.

S Fpofse s

33

What is meant by verification?

te e

34

What do you know about validation?

tUIE Tt et Lo dh

35

Differentiate between verification and validation.

Y A

36

What is meant by identification and correction of

errors?

T{.ﬂfﬁ:-(f JJJH:JMHFF

37

What do you know about trace table?

S L AL R

38

Write a short note on structure of trace table.

LS e SR

39

What is the use of valid and invalid data for
testing?

hl;.dh"ﬂy(ﬁicﬂ—u#nlcfuq‘_i»ﬁ-f

40

Convert into binary. (ABCD)16

L2 LA

41

Convert into

hexadecimal: (0010110010001101001)2

WIAF AL,

42

Convert into hexadecimal. (69610)10

LS LSTE,

43

Write the truth table for X AND Y where:  X=1It’

is sunny. Y=Today is Monday.

JALT  X= B Sb AL LXANDY
.q.Jr’fE.rT'l"= -

44

How client and server communicate with each
other?

Sl S W et i3 Lin g m2iW

45

What are the main components of
communication?

Tm;wff&ﬂ:aﬁ;ﬁ&ﬁ o

46

How telephone addressing relate with network
addressing?

WIS LS e LSl

47

What are the difference between sfatin and
dynamic IP?

LS NS LR LTSSl

48

Define communication channel.

el JmrE

49

Describe the working of web browser.

.4_{; G«*’U‘JJ ﬁﬂ;jﬂ{ -

50

Differentiate between point-to-point and
multipoint connection.

na 1T &J{é"ma.iq;&'r"

51

What is application sharing? Answer with the
help of an example.

_L,{f n‘.'ﬂ?u.i-ﬂ-.!.id’ &Tq...ifv’&-uf f Iﬁfl.h’"

92

What is the advantanges and disadvantages of
star topology over bus topology?

L NS A0S LGN e P S EHS?

53




In a client server model, is client software or
hardware? Give reasons to support your answer.

2 ol (Jpon3BQlaE) Jpe”
ST LA R e M et frada i i el
LS | 54

What is meant hy network?

ted eS| 55

Why the need for a computer network?

T U e S s ..t.f*}-ﬁ{ 56

Differentiate between client and server.

L 7 b Ln il | 57

What is meant by the physical structure of the
network?

til e g boiilr LS ner | 58

Write the types names of connection.

L F Lo | s

Write the types names of network topology.

LI LS EN T e | 60

Write a short note on bus topology.

L1 f eI BN | 6

What do you know about star topology?

FIZ W TR AL EN A | 62

Write a short note on ring topology.

S eI | 63

What do you know about mesh topology?

?wﬂﬂffﬁmm&" 64

What is meant hy data communication?

PR PIVE ot | 65

What do you know about sender and reciever?

S TR AL diniilr | 66

Write a short note on protocol,

SIS P Qg | 6T

What do you know about transmission medium?

W T AL LV | 68

Write the names of computers network models -

layers.

LS L AT e | 69

Write a short note on computer network models.

LS eI IS et | 70

What is meant by TCP/IP protocol?

ted A JINGTCPIP | 71

Differentiate between application layer and
transport layer.

LI LA B e | 72

Differentiate between network layer and physical
layer.

LSO EARL S AT ez | 73

Write a short note on FTP.

LS Fed P FTP | 14

Write the difference between HTTP and SMTP.

/T3 SMTP sHTTP | 75

What is meant by "the need for addressing™?

ted Ve ensdlon | 76

Why is there a need for addressing in file
sharing?

te JTsuden Llumnr b7 S| 17

Write a short note on the importance of
addressing of data communication,

S F LA e, —Q-ri.-ll.ﬂc;""gxr k3| 78

Write a short note on sending HTTP request on
internet.

LS et s EHTTP et | 79

What do you know about receiving HTTP
response?

TIZ G TR A LL S/ HTTP | 8o

el
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What is meant hy IP address?

s el (lusnIBlel) Jsnpe”

Tl A e R aaiIP

81

Write a short note on IP addressing standards.

S ad A ke L ELsIP

g2

What is a router?

t etk i

83

Write a short note on routing on internet.

IS8 S L Bssgu p

84

What do you know about routing process?

E b T4 V) Ja 7

89

Define cypher text,

LS el St

Why do we need an installation key whereas a
software can be protected witha a password?

ﬁjﬁu}f ML q.-(}.ﬂuf Y- 11 u%' eh Lt
te (CLs 21

87

Define DOS attack.

S ol S PDOS

Give a reason to add captcha on websites.

TH:L-(J ;.J{ﬂfu,af Captcha

89

What is patent and why do we need to register
it?

T.‘I'.. LJ{ Y L{L./( ,.H ..u"_-l‘q_,ﬂq Jj.i'..y’-ié;

90

Define data seﬂuritg.

TSP Y

91

Define ethical issues related to securit}-'.

LS eslS Lt

92

What is meant by privacy and confidentiality in
security?

St el iby S it sk

93

What is meant by softlifting?

T fkfc.ﬁu‘-:‘b

94

What do you know about fraud and misuse?

Twa'.lf}rTTu‘.'r_& L N1kl S 75

95

Write a short note on pattent.

LS F eI ek

96

Describe the role of copyright in security.

LS e S AL

97

What is meant hy trade secrets?

e AN

What do you know about sabntage?

TE b, TTJL-& Lﬁxfj

99

Write the importance of data privacy.

LSS S A

What is meant by cﬂnﬂdentiality?"

Tq...ﬂfk(:.dﬁ:ﬂ.:

What do you know about integrity?

What is meant by availability?

te i e YO

Write a short note on encryption.

LIS eI g

Write importance of encryption for everyday life
on the internet.

/. uﬂsmﬁﬂdﬁ—:"‘#ﬁﬁuﬂg&ﬁﬁu

Define substitution cipher method.

L NI L NS

What is meant by caeser cipher?

P

Define vigenere cipher and also write its method.

LI KIS S s
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Write weaknesses and security flaws of
substitution ciphers.

s el (lusnIBlel) Jsnpe”

LIS

109

What do you know about cryptographic keys?

110

Write properties of good password.

L f eher® Sy

111

What do you know about cybercrime?

W LAY

112

In what ways is cybercrime carried out?

tetebor e UR S S LA

113

Write the characteristics of a phishing attack.

S 1f hor® L

114

What do you know about phishing attack?

(7, A T (f PR PSP ot

115

Differentiate between ordered and unordered list.

LSO BU 2 i

116

Describe the basic text fnrmatting tags.

L ue s Bes

117

What is difference between hyperlink and
anchor?

LS N GIRF B E,

118

Create a basic table with following
attributes: "colspan™ , "rowspan”

N SIS ks g e L
TP 7

119

Explain the steps involved to create a HTML
page.

LS 1, L LGHTML

120

What is meant by number system?

tedpWat A

121

What numerical system do we use in our daily
lives?

AT P - 193! Yo

122

What do you know about decimal system?

FE bl IR AL B A

123

What is meant by binary system and write its
base.

LS R o B

124

Write the base of decimal system and binary
system.

- A e

125

Which system is used to store data in digital
computers?

Vet U L Lo 23l nd S5

126

Write the binary and decimal value of the letter
A' s

-Lﬁf.(j’ JJL}'JMJJ ILEL:J A7

127

What is meant by hexadecimal system and also
write its base.

LS RSN e e STk

128

Write the value of A,B,C,D,E,F in hexadecimal
system.

L2713 SAB,CDEFLS L,

129

What do you know about number system
conversion?

LN TEALIN LS A

130

Write the method for convert's decimal number
into binary number,

LS LF AL A A e

131

Convert the following into binary. 15610

15610 -2/ ltdestisne

132

Convert the following into decimal.  (1000001)2

(1000001); - /twr Ll end Lm0

133
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Write the method for convert's binary into
hexadecimal.

s el (lusnIBlel) Jsnpe”

NP LN AN L Y

134

Convert the following into decimal. (C921)10

(C921)10 L/t tsnd ts e

135

Convert the following into binary. (A23)16

(A23)16 /Lt tde S Lspmee

136

Convert the following into binary. (70C558)16

(70C558)16 -/ tar L0ES Lspsee

137

Convert the following into
hexadecimal. (11000001)2

(110000002 -/t BT kS L0000

138

Convert the following into
hexadecimal. (110101111)2

A10101111)2 /b LSk Ss.osn0

139

What do you know about computer memory?

SIE N TR AL Ied

140

What do you know about volatile memory?

S TR e h LS s

141

Write a short note on non-volatile memory.

-L{f.g; &9 A2 iy :f Bl

142

Differentiate between volatile and non-volatile
memory.

..;{f 5 AL J H’il.uul:..er Bllss

143

What is meant by ASCIl codes?

te il i e 3/ASCI

144

Write the abbreviation of ASCII.

/2 FSFEASCI

What do you know about De-facto standard?

WA S VAP

What is meant by storage device and also write
its two examples.

LIS Sl

Differentiate between memory and stnrage.

-L{.f( f}" IS RE s il

148

What is meant by bit and how much data is
stored in it?

Cetnb P U LU el e

149

How many bytes are there in one kilobyte and
one megabyte?

8L AV E Al LA K L

150

What is meant by preposition?

S P i igg

151

What do you know about truth values?

S TR AL ks s

152

What is meant by compound preposition?

e A el igs aS

153

Write a short note on AND operator,

S A S AL e AND

154

What do you know about OR operator?

'l L4 L eglOR

155

What is meant by NOT operator and also write its

example.

LSS LR g o e e INOT

156

Write a short note on truth table.

LI FLI P YN

157

Make a truth table for AND operator.

LESE2 2L Lk AND

158

What is meant by Boolean expression?

te il e

159

Write a short note on commutative law.

LI LI g H

160

Elaborate the associative law with example.

LSO Jo L g

161
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162 | Elaborate the distributive law with example. -u.'.'f f: e JO Lo l.; g7 | 162
163 | What do you know about logical expression? by Tfﬁh&ﬁd%ﬁ!'&ﬁeﬂ 163
164 | Write abbreviation of HTML. LS4 fSFHTML | 164
165 | Write a short note on hypertext. LS F e a4y | 165
166 | What do you know about markup language? Twigy’vi’udqﬁéﬁ w4 | 166

167 | What is meant by case sensitive in HTML? ted e s U LHTML | 167
Which software is required to create a web
168 page? T?Jﬂ@#ﬁJjﬁbJé—M*ﬂ 168
How many types of tags in HTML and also write
169 | its names. LIPS ERL AP LLSF 2HTML | 169

170 | Write three attributes of HTML tags. LS f e EEPHTML | 470
Write an example of showing a paragraph in the

171 | middle of a page. LS IS e nLEI 15 | 174
172 | What do you know about head section of HTML? SIZL T LPELLHTML | 172

173 | What do you know about body section of HTML? ST LAEGREHTML | 473
How many types of headings tags and also write

174 | its uses. LS IENNE LA ELI TR F b | 174
175 | Write the uses of <font> tag. LS S f<font> | 175
176 | What do you know about <i> tag? Tl Fp et LP<i> | 176
177 | What do you know about <u> tag? ?MVTTMLJ‘U" 177
178 | Write a short not eon unordered list. s )4 4B | 178
179 | What do you know about <li> tag? Sl TS et SBIi> | 179
180 | Write a short note on ordered list. —‘-Ef 4:/.' &f A 4757 | 180
181 | What do you know about definition list? SELY SITT L T | 181
182 | Write a short note on nested list. S f i i | 182

183 | Write example for showing image in webpage. -'-Ef é/q J""d’-’-ﬁ{fau#&' ot | 183
What attributes are used to give image width and

184 | height? t LSS o paod & sl andigd” | 184
Which attribute is used for image background in X
185 | webpage? te bl U od L L8, 95 L8 | 185
Which attribute is used to type the URL of the .
186 | image in the hyperlink? tetelf Ut LAURLE P o p s/ 2 B4t | 186

187 | What do you know about anchor attribute? I Tl A Lo s p e | 187
188 | Write how to put a hyperlink on an image? -H'.’f 1:?’ :f.i)i’i.ti.ﬁju{_r: 188
189 | Write a structure of table in HTML. L S2F K JEHTML | 189
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Write table row and column tag. -‘-Efr </ JE’L&HE&:MEJJ‘; 190
What do you know about colspan? PE b TS A Ll K | 191
When we use rowspan tag? T bl Ut SOV | 192
Differentiate between colspan and rowspan tag. LIOBGI LBt rmetr I | 193
What is meant by network? e Ve S e | 194

When is the need for a computer network? TJ@JMHJJHEJJ 195
What is meant by file sharing in computer .
network? ted e L 72 Sot S e tod | 106

How does hardware sharing used in a computer
network? ?ﬁ'-ljﬂdﬁ':"'é’*-ﬁ' 7 E-‘J-"ﬂ.::-‘fﬂ&’}-t{ 197

What is meant by application sharing? T«:-J..-"Jr( ;.J}'f? Lﬁ{ Lt'* 198
Differentiate between temporary and permanent L
storage devices. LSPEABE T s e | 199

Differentiate between volatile and non-volatile

memory. -d_'f J){J:,';"-fj@ e J Fl-f.l'!t,:.lhﬂlf Pller | 200

e
Define an algorithm and argue on its role and

importance in problem solving. {fwﬁiﬁﬁuﬂuﬂi—)ﬂ' & -E"ﬂll.{f—i‘/;tff A

Explain the types of test data. LS
What is network topology? Describe bus, star, ring
and mesh topologies. LSS EITE NS L s S A P e NS ot
What is TCP/IP? Describe its five layers with their . ,
functions. £/ wuﬁ Lo 2o ;,d' Ui /< TCP/IP
What are the advantages and disadvantages of star i
topology over bus topology? LS eI 0 LIRS e G
Elaborate decimal, binary and hexadecimal number

system with examples. -u!’f fuau#-fr"’ i L}f’ “i'/-c'wlé'-'fq!#'l

Elaborate decimal to binary and binary to decimal .
number system with example. f -Lifg lm&ﬂ:ﬁﬁrlﬁd#ﬂa.dhﬂﬂba.ﬁm

Elaborate decimal to hexadecimal and hexadecimal to
decimal conversion with example. L ﬁhﬁ-&ﬂ#ﬂﬁiﬂéﬂf& ??E'u!ul‘f ".h:fh-..ﬁ#ﬂ

Make truth table using AND, OR, NOT operator. LhJE Sl S S % pIAND, OR, NOT
Write a note on laws of boolean algehra. -d.{f-t,,;-t-?-cuf !-Fﬁfﬁbéi

Write the structure of creating a HTML page. -ﬁfdf AHLLE LiHTML
Write the method and uses of three peer tags and
three singular tags. L1 A WV E L Bk
Write a note of five text formatting tags. LI -LF&?&J:—H:*J-'-—-E‘

Write the uses of ordered list, unordered list and

definition list and also write one example. LSl S SN T s ARes A 8T
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What do you know about hyperlink and also elaborate
with example.

s el (lsnIBlel) Jonpe”

LI Jo L BRI LA LB

15

Write a note on the need of computer networks.

“f ) {; Lod gz J'}J uyr .L_f},gcr

16

Write a note on network topology.

LS eI N S s

17

Write a note on the some problems for security of
data.

WY PY IR (Ot W (Y

18

What are the risks to privacy from mass collection of
data? Also illustrate with example.

Che gt el oLl nto L $hie ety Ll
£

19

What is meant by encryption? Also write importance
of encryption for everday life on the internet.

LS Se SN B o AL hinpins o p < S K F

20

Write two substitution cipher methods and also give
an example.

~EN WL NS S L AR

21

Write a note on the advantages and disadvantages for
substitution cipher methods

-.-L,_!:I .L; d g bl s Lo gy

22

Elaborate relationship between cryptographic keys
and passwords. Also write characteristics of a good
password.

Faker? G &8y SC e il s L3Sy S 5S
L/

23

What do you know about cyber crime and also write a
note on the its types.

LS I ISR TR h LS S

24






